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WE SHOULD NOT
WASTE
ELECTRICITY

Have all of you come to the
class?

Subbarao has not come, sir!
Ravi too. Both of them have
not come.

Sir! The fans and lights in that

classroom are on.

Who is there?

Nobody is there.
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Then turn off those fans and
lights. We should not waste
electricity.

My I come in, sir?

Yes. Come in. What is Mohan
doing there?

He is looking at the road through

the window.

What is there on the road?

A crowd of people is gathering
on the road.
Why?

Something is happening there.
Some one is making different
kinds of flowers with paper.

Mohan! You can watch the fun
later but pay attention to the
lesson first. Children! Have
you all seen the film Tippu
Sultan?

We have seen it sir.

I did not see, sir.
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It is a good film. See it. Have
you all done your home-
work? Have you all read the
sixth lesson?

I have not done my home-work,

sir. But I have read the lesson.

I did not read the lesson, sir. My
father did not buy the book
(for me yet). Now those

books are not available, sir!

I see! There is a book-stall in
the main bazar. Did you ask
(enquire) there?

We did not go there, sir.

Those books have not yet come

into the market, sir.

Okay! Did I tell you about

Srirangapatnam before?

You did not tell, sir! The His-

tory teacher told us.

Have you seen Srirangapatnam?

No, sir!
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On the Sunday, the day-after-
tomorrow, let's all go to

Srirangapatnam.
sksksk
Ravi! Is this the time to wash

the scooter?

Today is Sunday. Isn't it?
I am planning to go tot Sriranga

patnam today. Why don't you

also come?

By scooter?

Yes.

I too want to see Srirangapatnam.
But I want to be at home this

Sunday. So far I did not see

Srirangapatnam.

You haven't seen Srirangapatnam

yet? Then come on start!

No. Let's not go to Sriranga

patnam today. Let's go to zoo.

Why?
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There is a festival in Sriranga-
patnam today. There will be a
lot of people. It will not be
possible to go in that heavy rush.

All right! We will go to the zoo
today. My wife will also be
coming. Why don't you bring
your wife too?

Okay! All of us will go.

We should not go that side. That
is one-way traffic. Yesterday
I was coming on this road
from the college side. Then
the police caught hold of me.

DRILLS

a. Build-up drill.
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We buy magazines
every week.

O] 00D 550
Ho 808 DS wE
B OO B80!
Oh! | see! Then why

don'tyou find a house
for me next to yours!




b. Substitution drill

Model (i)
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Model (ii)
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Model (iv)
82 T80 DD (25¢D)
3 FB0 SBSB.
L0 Jren §aigdE (D)
L TE00 TDR. (2¢))
L 88) 800 SHTB. (SHF)
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Model (v)
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Model (vi)
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1. 2 ROGR0D SNNG. (domeo)
2. 8500 AOSVOD BTN
(¥e0)
3. @35 VPSE0D ST
(20)
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Model (vii) Model (viii)
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Model (ix) éd@éo &30 iﬁ:"cgo @J woh.
(9Q80-w5c0)
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c. Interlocked substitution drill

Model (i) Model (iii)
Q6% 20&8 JHPHd TY? (3. 6 SamE?
3 FO @DHHOLITI. R05TBED.

1. 50 908 o? (%) Dos$so) 1. wdo wdo EHT?
2. 8D H TH TH @8 TEH PJBo 2. FH F¥o SHAoW?
Soero? (8 =b%) 3. §0) &¥do TTE?
3. 6 FOPp 88 Sreyma? (0) 4. e T TEon?
4. o 0P 5 wbTe? (Jeod) 5. 3D wddo Sjom?

Model (ii) Model (iv)

8D e WIRRTIE? 82 sTE?  (6'9)
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1. 36) & $hT?  (erco) 1. 2080 @0 ST ? (Do)
2. 2080 D& STRN0?  (3500) 2. b0 WA wTr? ()
3. W& &0 T, (&) 3. T w3880 TTE? (d)
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Model (v)
3D, D3 SImET T ?
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2. Ad A% D08 osa?
3. A mar & wisan?

Model (vi)
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2. égé &80 STONTLIT)AX.
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d. Trasformation drill.

Model (i)
S350 VIS Sreyo.
5050 IS SFEID.
1. 030 8IS Srexro.
2. 030 Qard 6F 2088 SFero.
3. &0 TY a& gwo Sowo.

Model (ii)
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Model (vii)
I §HO8 TTy?
A. TS,
B. o8&,
1. e 5% SdsT)?
2. 8D & Fesse?
3. oD ©No BII5T?

Model (viii)
(9 Qe0Q0D) ST . (582)
SORDYVOD BRI,
1. 35 Q0D SHT? (&)
2. 20089 DEV0D SFod? (&)
3. DY V0D SRTD(Ew)

Model (iii)

T TLEO Do I Hob.
&0 TLEO LWTTO DHOLITND.
1. % 2088 FPo @ JHob.
2. WD 28 T TFO &I JHok.
3. 850% rew o @l Hob.

Model (iv)
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e. Conversation drill.

Model
O 1 R0 D R0 D, (60 )
DB VR0 B DK, DYy F0 BESTET?
G 1 aupy T VI8P DFTO @ GOk,
DOF 100, ©o0d DDg WOGLY DONG. I8 B0 BEYTL.
1. DD 1 TS QAP > &F)-Hio. (sgso-Tow)
TS 1 e,
DS L T
TS 1 e,
2. f% 108 A a8 6 BEFLD. (38)-80H0)
(0308 0 v H RN
oS TS
(0308 0 v H TR
3. 500 XTI S 00D DD Fotrd.  ($00-8%0)
DTTETPR 1 reeeererereeeertereseeeaaens

EXERCISES

a. Rewrite the following sentences filling up the blanks with the
correct forms of the verbs given in the parentheses.

1. 33 37 ROG OO0 o (850) ©80%0&T)0.
2. 3 0%) 08 ......... (T) @8080e05)6.

3. TE) AYE v (876Y) 30500 .

4. 200008 28 YREO v (8:08) ©98%0e0S)0.
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b. Answer the following questions as shown in the model:

Model (i)
S50 BT SrEDEY) Sowsr? (39)
o0 B STAEDE) BISK. T Sowo.
. %0 & [0S Lrdnomsr? (e ()
. 3030 836 DRFo EHomLr?  (Berd)
S50 ADPE AV Epsr?  (39)
4. 530 FOPE Prod §rsr? (Frokoso)

w N e

Model (ii)
0T W0 DTO @0H0LTNH? (VST -55e0)
AATEE VILT BP0 @E0ENT).
1. 30) a¥ o DO ©IHOTIE? (HoLrdr-¢0)
2. 85> & D0SEBO 0 BTO ©IK0LSNE? (D..~B0D)
3. @88 Q0 BTO ©IDOLTIE? (Bad-Daxg)
Model (iii)
WeRTY) Yo FE?
§3B&.
S TFeo Sro?
80 SNow?
32 800 HFWHITNE?
$9g S Yo Som?
G (Hotrdd ¥ow?

o

c. Rewrite the following sentences as shown in the model.

Model (i) Model (ii)

A0 208 dFEp. 080 B0 TOHBED.

T Q088 o @ Hob. QY TOT !
1. 3% 458 Sregrmd. 1. 2080 cane SHTB.
2. 00% BH% Lotod. 2. 983 Y0 SEBL.
3. 8 a8 S TRoR. 3. T & FEBE.
4. TE) VISTH g 4. ey e eckrBd.

443



An Intensive Course in Telugu

Model (i)
SDE STETchSTIN.

ST ETCET 0.

RESSvalopy Jecab) I Sleclptuivepl
. OB BIGSE).

080 5 BSE).

. 36) agGs TSy,

L 83 @ 00 BEGL.

o~ 0N B+

VOCABULARY

Dcﬁogiﬁﬁ electricity

QyFDong  waste (V.)

— 35 an auxiliary verb denot-
ing may

through

towards

~S0D

-9

(00(1°C80

D0 something which causes
wonder; wonder; oddity.

080z different types

S0drdowang  prepare; make (v.t.)

ZJ’%SSJS(?& homework

-8 into

08530060 heretofore; before

this; previously

gather (v.i.)

8600 Srirangapatnam

—-00d  about

0|8 history
Qo scooter
308" think; plan (v)

Model (iv)

B! S0 DO Fang.
A. 31 3098 DOEIT OS5I
B. 821 898 0060 §aSgEreed.
C. 81 $d9g Dok EgosTesT
1. 36w oy Jren .
2. 208 g ey SRS
3. F*%1 o3 & eBBo SHY.

-0 o) auxiliary used in the sug-
gestive form of the verb.
©@Jwol / have/has a desire that ...
AYOR.

Qe happily; pleasently

R0$I0L  hitherto; till this time;
up to now

~CR auxilary used in the for-
mation of negative
hortative

o 700

SN festivity

-3¢ wife (only when used
with a plural pronomi-
nal adjective)

-&r¢¢d  should not

SSVErPE one way traffic

g road

IS magazine
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Lesson 29

GRAMMAR NOTES

29.1. In this lesson the mfmitive form of the verb is introduced. Infinitive
is a type of verbal base (a higher level base) to which certain auxiliary verbs are
added. -® -ais added to the verbal base to form the infinitive. Infinitive has
no independent usage. infinitive = verbal base +  a

Z)‘%f.)@+®= 2)%5@ vellu+a = vella 21227

B0+e9= &I tinu+a = tina 21222

QWONS+e= IO ceyyi+a = ceyya 21222

o+o= T 13+a = 1a ‘3.13.1°

ASH+e= IS nilco+a = nilco 3.13.1

VY +@= DI caduvu+a = cadava 2.12.2; 155.1°
29.2. The FASEREEARNS is formed by adding —~&¢» /&du to the infinitive.

Like present negative (25.3.; 25.3.1) the past negative forms also do not maintain
any agreement with the person-gender-number of the subject noun. Hence no
personal suffixes are used in the formation of past negative forms.

Past negative = Infinitive + -&¢o /édu

IH+BED = B 'Did not go'
vella+lédu = vellalédu

A B, ‘I did not go.’
nénu vellalédu.

5030 /300 DODFB . ‘We did not do.’
manaM/méM ceyyalédu.

303 PB. “You did not go.’
nuvvu polédu.

0 §GQB. “You did not beat.’
miru ko alédu.

T /9830 /9050 G HIBED. ‘He did not ask.’
vadu/atanu/ayana adagalédu.

QIR0 /&3 BRIDLD. ‘She did not read.’

ame/avida cadavalédu.
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©d TBE. adi raledu. ‘She/It did not come.’
a"@‘éo@ JASY o8&, vallu/avi ralédu.  “They (hum. & neut.) did not come’

Compare the present negative form (25.3) with the past negative form. The
present negative is formed by adding 8¢ /éduto the gerund (25.1) and the
past negative is formed by adding & /éduto the infinitive.

29.3. The HEFMISSIVENGED is formed by adding -0y -vaccu to the
finitive.
Permissive — Infinitive + —657503 -vaccu

DGO, vellavaccu. ‘One may go.’
BIIN. tinavaccu. ‘One may eat.’
0305, rayavaccu. ‘One may write.’

Qs SHO8 TS, suguna lopaliki ravaccy. ‘Suguna may come in.’
Qo =P @ASS).  miru kaff tagavaccu.  *You may drink coffee.’
D aé&é oo Q&ﬁzﬁ)‘). vadu ikkada kiarcovaccu. ‘He may sit here.’

293.1. The permissive form is used with interrogative marker -es 4 to ex-

press a request for permission.

a0 0O oS5e? nénu Iopaliki ravacca?  ‘May I come in?’
8O & edsT?  ravi Iilagavacca? ‘Can Ravi drink tea?”

294. The negative permissive or profibitive=form is formed by adding
—-&°¢6¢0 -kidadu to the infinitive.

Negative permissive or prohibitive = Infinitive + -5~ -kiddaduto the infinitive

e SHOE TErED. ‘Suguna should not come in.’
suguna lopaliki rakiddadu.

3D & BTG, ‘Ravi should not drink tea.’
ravi T tagakiadadu.

Q0I0 WHAEE JEHETECD. ‘We should not go there.’

manaM akkadiki vellakidadu.
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29.5. -9 is added to the infinitive to form the FEEAfvEHOTtAtve. (For
hortative see 26.5. and 26.5.1)

Negative hortative = Infinitive + 3¢

S0 0. manaM veldaM. ‘Let us go.’
030 c;ﬁaa"o. manaM vaddaMl. ‘Let us come.’
030 5@5@33638. manaM vellavaddu. ‘Let us not go.’
S0 THE. manaM ravaddu. ‘Let us not come.’
29.6. —-o¢w°) -radiiis added to the infinitive to form the ETSUASIVGHOND .

Persuasive = Infinitive + oo radii
This form is used to persuade the listener to do the action denoted by the verb.
81 S0 BOP BoB8 ¢! ‘Ravi! Why don't you go home?”
ravi! nuvvu ippudu iM iki vellaradi!
OAET] S8 QYRE0 VAST ) ‘Suguna! Why don't you read this book?’
suguna! 1 pustakaM cadavaradi!

29.7. In this lesson the sentence pattern Hortative + form of the verb
008 anuko 'plan; think' is introduced.

A0 Bg¥ VIST WO @EH0ELITID.

nénu 1vvéla sinima ciaddaM anukuM unnanu.

‘I am ptanmme-te=see a movie today.’

D B8 STErEo eHTIND.

nénu ravito ma laddaM anukunnanu.

‘I planned/wanted to talk to Ravi.’

In this pattern of sentences the subject need not be oo manaM we

(incl.) though the horatative form is used (see 26.5).

8D (DOLITE JFTO IE0LVT .

ravi guM aru veldaM anukuM unnadu.

‘Ravi is planning to go to Guntur.’

5098 0 BTO WBHINY?

nuvvu eEM céddaM anukunnavu?

‘What did you want to do?’
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DB IHEE IF0 ©IK0LOTIE?
miru ekkadiki veldaM anukuM unnaru?
‘Where do you want to go? (Where are you planning to go?)’

29.8. Another syntactic pattern involving the use of hortative is also in-
troduced. This is to express—some-destre-or-wish. The pattern is:
Horatati ®IPob M
oratative + PPy ani(v)ubMdi

In this pattern of sentence the subject noun (or phrase) must be in da-
tive case; and it need not be oS0 manaM 'we (incl.)' alone.

> '5235‘?;5 &7 0 @I wok.  ‘Thave a desire to go to zoo Today.
naku ivvéla jiku veldaM ani uMdi. (I want to go to zoo today)’
&8 Benid VI OTO @IQod.  ‘He has a desire to see a Telugu movie.
ataniki telugu simima caddaM anivuMdi.  (He wants to see a Telugu movie.)’

AW e DY zfma"o o ? ‘Do you have a desire to do that work?
miku a pani céddaM aniuMda? (Do you want to do that work?)’
299. Notice the use of the gerund (25.1) forms in sentences like:
QAIPE O30 BIL0? ‘Is this the time of eating food?’

1ppuda annaM tina aM?
In lesson 25 the use of gerund in sentences like.

(Dév&ér? B30 NOAH . ‘Eating more is not good.’
ekkuvaga tina aM maMcidi kadu.
OHES GOGLO 0. ‘Staying there is difficult.’

akkada uMda aM kas aM.
etc. has been introduced.

29.10. In this lesson directional case marker -5 -vaipu is introduced.
-9) Vvaipu is a postposition (4.6.; 8.9).
TR WI°Ce. navaipu cidu. "Look towards me.'
QYOXRY) V). skaluvaipu vellu. 'Go towards the school.'
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29.11. -8 loki (&' 16[4.5] + & ki [13.1] Q0D loniMci (S 16 +
QoD niMci[17.7]). 'through; from inside' are the combinations of two case
markers. They also function like postpositions/case markers.

SN 065"6&@368 8 TB0. ‘It did not arrive into the market.’
adl marke uloki ralédu.
3 208 JECE0. ‘Ravi went into the house.’

ravi IM loki velladu.
(2 888800 Sy . ‘Gopi is looking through the window.”

gopi ki ikiloniMeci castunnadu.

838 1OSOD NI)Iela ‘Sita came out from (side of)
sita gadiloniMci vacciMdi. the room.’
2e0EV0ND oo Sows. “Take out the pen from (indide of)
JeébuloniMci kalaM tiyyi. the pocket.’
29.12. Notice the use of the instrumental case suffix -& -5 (22.6) in

sentences like the following.

SoS08 Yoo SoSrdy DT, ‘He is making flowers with papers.”
kayitaMro palu tayaru céstunnadu.

29.13. -e30¢ -avida is third person feminine honorific singular pronoun
(10.3). When used with a plural pronominal adjective (2.1.; 5.9) it denotes
'wife'. When -esd¢ -avida is used to denote 'wife' the plural pronominal
adjectives o mi, &3 ma etc. denote singularity. (Also see 51.3.)

29.14. 0800 -guriMer  'about' is a postposition (4.6.1; 8.9).
& D000 &rerdd  na guriMcei ma ladaku. Don't talk about me.

29.15. Notice the use of the adverb ¥05° -iMka (9.9) 'still, yet, more'
with the verb in past negative, where it means 'yet' in Engish.

3 ROz OB, ravi iika ralédu.  'Ravi has not yet come.!

449



